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(76) Integration (Definite 
Integrals)  

  
(1) Without using a calculator, show that  

න (2𝑥 + 4)𝑑𝑥 = 16
ଷ

ଵ

 

 
 
 
(2) Evaluate each of the following. Give your 
answers as exact fractions where appropriate. You 
must show full workings: 

(a) ∫ (𝑥ସ + 𝑥)
ଷ

଴
𝑑𝑥             (b) ∫ ቀ

ହ

௫మቁ
ସ

ଵ
𝑑𝑥 

 
 

(c) ∫ (𝑥ି଴.ହ − 1)
ଽ

ସ
𝑑𝑥                (d) ∫ ൫𝑥ଵ/ଶ൯

ଶହ

ଵ
𝑑𝑥 

 
 
 
 
 
 

(3) Evaluate ∫ ൫4 − 3𝑡 + √𝑡
య

൯
଼

ଵ
𝑑𝑡 

 
 

 

 

  
(1) Without using a calculator, show that  
 

න ൬2𝑥 +
1

√𝑥
൰ 𝑑𝑥 = 60 + 2√2

଼

ଶ

 

 

 

 

 

 

 

 

 

(2) Showing full workings, evaluate 
  

න ቆ
6𝑥ହ + 𝑥ଷ − 2𝑥

𝑥
ቇ 𝑑𝑥

ଷ

ଵ

 

 

 

 

 

 

 

 

 

 

  
(1) Given that: 
 

න (2𝑦 + 4)𝑑𝑦 = 84
ସ௡

௡

       𝑛 > 0 

 
Find the value of 𝑛. You must show full workings. 

 

 

 

 

 

 

 

 

 

 

(2) Show, without a calculator, that         

 

න ቆ
1

2ඥ𝑝
+

3

2
ඥ𝑝ቇ

ଵଶ

ଷ

𝑑𝑝 = 𝑘√3 

 

Where 𝑘 is a constant to be found. 

 

 

 

 

 

 

 

 

 

 

 


